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- A computer is advertised as se
which indicates that the
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price does not include GST.
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Answer
| a  GST-inclusive price = $1999 1.15 = 2293 85
b GST = (GST-indl. price) - (GST-exc]. price) |
[ = $2298.85 - $1999 — $299.85
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Example TR

A burger, fries and cola cost $9.40 including GST.
Calculate the price before GST is added, and the
amount of GST charged.

— Answer
Price before GST — price including GST
o 1.15

_ $9.40
- E1b

= $8.17
GST = (GST-incl. price) - (GST-excl. price)
= $9.40 - $8.17 = $1.23

EXERCISE 3.09 p—

1 These prices are GST exclusive. Calculate 3 Here is a list of sales (including GST)
the GST-inclusive price for each one. made by a hire firm. The accountant has
a $250 to calculate the GST on each one, and then
b $7.49 write a cheque for the GST and send it to the
¢ $660 Inland Revenue Department.
d $93.45 * chainsaw $75.50
e ; * punch-bowl and party glasses  $102.40
2 These prices include GST. Calculate the price s tables, chairs and canvas
before GST was added to them. marquee $312.68
a $70.20 * cobblestone splitter and
b $6142.50 compactor $239.00
¢ 63cents

How much should the accountant make out

d $493.88 the cheque for?

4 This table shows prices of products sold by
a computer accessories firm. Calculate the
values marked a-m.

Colour laser prr $3799 $569.85 a

DVD-R drive $299 b C
26” LCD monitor d e $786.38
Wireless router $499 f g
Ergonomic keyboard h i $156.38
Desktop publishing software $999 j k
DVD/RW disks (box of 10) 1 $2.38 m
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| EXERCISE 3.10 )

1 Setup a spreadsheet to calculate both kinds c.z:f conversion:
*  GST-exclusive price — GST-inclusive price
*  GST-inclusive price — GST-exclusive price.
The extract below shows how you should display the results.
The example is for $16 plus GST = $18.40 and $45 less GST = $39.13.

T BRI RNE D E
1 | Price axcl, GST|Price incl. GST|  |Price incl, GST| Price excl. GST
2| steo 518.40 45,00 §3913 |
3] $1900 30,00 s
4 §45 35 599'5
5| s10087 P :
5. T s9m00 _ 09900
7 | $102080 Y230
8] 03 85007 35
o e | 30.80
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2 = Because of your mathematical expertise
Govt l‘alses GST to 20“/0 , vou have been asked to help a ﬁrE"n
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The first calculation, for a current
spreadsheet.

In column B enter
COpy to show prices excluding GST,
In column C enter a formula to
calculate GST at 20%, Copy the
formula downwards,
In column D display the increase in
price that results from the rise in GST
from 15% to 20%.

a formula and

price of $832, has been done for you. Complete the
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